
         

Model Questions, 2021 

 Set – II 

 

 

le; % 3 ?kaVsle; % 3 ?kaVsle; % 3 ?kaVsle; % 3 ?kaVs                            iw.kkZad %iw.kkZad %iw.kkZad %iw.kkZad %    
Time : 3 Hours       Full Marks : 

 

lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%lkekU; funsZ’k%    
General Instructions: 

1. ijh{kkFkhZ ;FkklaHko vius ‘kCnksa esa gh mÙkj nhft,A 

Candidates are required to give their answers in their own words as far as 

practicable. 

2. bl Á’ui= esa nks [k.M & A vkSj B gSaA nksuksa [k.Mksa ds lHkh Á’uksa ds mÙkj nsuk vfuok;Z 

gSA 

 [k.M & A ¼HkkSfrdh ,oa jlk;u½          & 52 vad 

 [k.M & B ¼tho foKku½           & 28 vad 

 This question paper has two groups A and B. It is compulsory to answer all 

the questions of both the groups. 

 Group – A (Physics and Chemistry)                                            – 52 Marks 

 Group – B (Biology)       – 28 Marks 

3. ÁR;sd Á’u ds vad mlds lkeus vafdr gSaA 

Marks allotted to each question are printed against it. 

4. 2 vad okys Á’uksa ds mÙkj yxHkx 40&50 ‘kCnksa esa] 4 vad okys Á’uksa ds mÙkj yxHkx 

50&60 ‘kCnksa esa ,oa 5 vad okys Á’uksa ds mÙkj yxHkx 70&80 ‘kCnksa esa nhft,A 

Answer in about 40-50 words the question of 2 marks, answer in about 50-60 

words the question of 4 marks and answer in about 70-80 words the question of 5 

marks.  

5. lHkh jQ dk;Z Á’u&lg&mÙkjiqfLrdk ds var esa fn, x, i`”Bksa ij gh dhft,] vU;= dgha 

ughaA 

Do all rough work in the last pages of the Question-cum-Answer Booklet and 

nowhere else. 

6. tgk¡ dgha Hkh fp= vko’;d gks] mUgsa LoPNrk ds lkFk Li”V #i esa [khafp,A   

Draw neat and clean diagram wherever necessary. 

80 

 foKku foKku foKku foKku (lS)kafrdlS)kafrdlS)kafrdlS)kafrd) 
Science (Theory) 

Class – Xth 



 

[k.M & [k.M & [k.M & [k.M & A ¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½¼HkkSfrdh ,oa jlk;u½    
Group – A (Physics & Chemistry) 

lgh fodYi dk lgh fodYi dk lgh fodYi dk lgh fodYi dk p;u dhft,Ap;u dhft,Ap;u dhft,Ap;u dhft,A    
(Choose the correct option) 

 

Á’u Á’u Á’u Á’u 1.  mÙky niZ.k }kjk cuk ÁfrfcEc lnSo gksrk gS % 

(A) mYVk (B) okLrfod (C) vkof/kZr (D) lh/kk 

1 

     The image formed by a convex mirror is always : 

(A) Inverted (B) Real (C) Magnified (D) Erect 

 

Á’u 2Á’u 2Á’u 2Á’u 2----     ysUl dh ‘kfä dk S.I ek=d gS % 

(A) twy (B) okV  (C) vxZ  (D)  MkbvkWIVj 

1 

     The  S.I unit of power of a lens is : 

(A) Joule (B) Watt (C) Erg (D) Dioptre 

 

Á’u 3Á’u 3Á’u 3Á’u 3----     vk¡[k ds jaxhu Hkkx dks D;k dgrs gSa \ 

(A) dksfuZ;k    (B) vk;fjl (C) jsfVuk (D) LDysjksfVd 

1 

     The colored portion of the eye is called : 

(A) Cornea    (B) Iris  (C) Retina (D) Sclerotic 

 

Á’u 4Á’u 4Á’u 4Á’u 4----     ÁR;sd bysDVªkWu ij fdruk dwyEc _.k vkos’k gksrk gS\ 

(A) 231.6 10 c
−

×      (B) 191.6 10 c
−

×   (C) 196.023 10 c
−

×  (D) 236.023 10 c
−

×  

1 

     The amount of negative charge in coulomb present on each electron is? 

(A) 231.6 10 c
−

×      (B) 191.6 10 c
−

×   (C) 196.023 10 c
−

×  (D) 236.023 10 c
−

×  

 

Á’u 5Á’u 5Á’u 5Á’u 5----     vkse ek=d gS %  

(A) ÅtkZ dk      (B) Áfrjks/k dk    (C) /kkjk dk    (D) buesa ls dksbZ ugha 

1 

     Ohm is the unit of : 

(A) Energy          (B) Resistance      (C) Current     (D) None of these 

 

Á’u 6Á’u 6Á’u 6Á’u 6----     ‘kjhj esa Hkkstu dk ipuk fdl Ádkj dh vfHkfØ;k gS % 

(A) la;kstu   (B) vip;u       (C) foLFkkiu     (D) fo;kstu 

1 

     Which type of reaction is digestion of food in body  : 

(A) Combination (B) Reduction      (C) Displacement   (D)  Decomposition  

 

Á’u 7Á’u 7Á’u 7Á’u 7----     ty eas ?kqyu’khy {kkjd D;k dgykrk gS \ 

(A) vEy     (B) {kkj         (C) yo.k      (D) buesa ls dksbZ ugha 

1 



     Name the bases soluble in water ? 

(A) Acid     (B) Alkali        (C) Salt  (D) None of these 
 

Á’u 8Á’u 8Á’u 8Á’u 8----      vEyh; foy;u dk PH eku gksrk gS \ 

(A) 7    (B) 7 ls de       (C) 7 ds ckjcj  (D) 7 ls vf/kd 

1 

     The PH value of acidic solution is ? 

(A) 7   (B) Less than 7   (C) Equal to 7 (D) More than 7 

 

Á’u 9Á’u 9Á’u 9Á’u 9----     dkSu&lk /kkrq dejs ds rki ij nzo gksrk gS \ 

(A) czksehu  (B) ikjk      (C) rk¡ck  (D)  yksgk 

1 

     Which metal is liquid at room temperature ? 

(A) Bromene  (B) Mercury        (C) Copper  (D)  Iron 
 

Á’u 10Á’u 10Á’u 10Á’u 10----     fuEufyf[kr esa dkSu vlar`Ir gkbMªksdkcZu gS \ 

(A) C2H4 (B) C4H10     (C) CH4  (D) C6H14 

1 

     Which of the following is an unsaturated hydrocarbon ? 

(A) C2H4 (B) C4H10     (C) CH4  (D) C6H14 

 

     fjä LFkkuksa dh iwfrZ fjä LFkkuksa dh iwfrZ fjä LFkkuksa dh iwfrZ fjä LFkkuksa dh iwfrZ mi;qä ‘kCnksa }kjk dhft, %mi;qä ‘kCnksa }kjk dhft, %mi;qä ‘kCnksa }kjk dhft, %mi;qä ‘kCnksa }kjk dhft, %    
Fill in the blanks with appropriate words: 

 

Á’u 11Á’u 11Á’u 11Á’u 11----     tks O;fä nwj dh oLrqvksa dks lkQ ugha ns[k ldrk mls --------------------- ysUl dk O;ogkj 

djuk pkfg,A 

A person who cannot see distant objects clearly should use a ……….. lens. 

1 

Á’u 12Á’u 12Á’u 12Á’u 12----     pkyd esa cgus okyh /kkjk ------------------- ds lekuqikrh gksrh gSA 

The current flowing in a conductor is proportional to ……….. . 

1 

Á’u 13Á’u 13Á’u 13Á’u 13----     mip;u ,d ÁfØ;k gS ftlesa vkWDlhtu dk vuqikr -------------------------- tkrk gSA 

Reduction is a process in which the proportion oxygen ……………… . 

1 

Á’u 14Á’u 14Á’u 14Á’u 14----     vk;fud ;kSfxd ds --------------------------- xyukad gksrs gSaA 

Ionic compounds have …………… melting points. 

1 

Á’u 15Á’u 15Á’u 15Á’u 15----     eksVj xkfM+;ksa esa mÙky niZ.k dk mi;ksx ^^lkbM fejj** ds #i esa D;ksa fd;k tkrk gS \ 

Why is convex mirror used as “side mirror” in automobiles ? 

2 

Á’u 16Á’u 16Á’u 16Á’u 16----     larqfyr jklk;fud lehdj.k D;k gS\ ,d mnkgj.k nhft,A 

What is the balanced chemical equation ? Give an example. 

2 

Á’u 17Á’u 17Á’u 17Á’u 17----     us= dh lek;kstu ‘kfä ls D;k rkRi;Z gS \ 

What is power of accommodation of the eye ? 

2 



Á’u 18Á’u 18Á’u 18Á’u 18----     ty dh vuqifLFkfr esa vEy dk O;kogkj vEyh; D;ksa ugha gksrk gS \ 

Why do acids not show acidic behavior in the absence of water ? 

2 

     vFkok vFkok vFkok vFkok (Or)  

     rkts nw/k ds PH eku 6 gksrk gSA ngh cu tkus ij blds PH eku esa D;k ifjorZu gksxk\ 

Fresh milk has a PH of 6. How do you think the PH will change as it turns into 

curd ?  

2 

Á’u Á’u Á’u Á’u 11119999----     fo|qr ghVj dk rkih; vo;o fdl inkFkZ dk cuk gksrk gS vkSj D;ksa\ 

The heating element of electric heater is made of which material and why? 

2 

     vFkok vFkok vFkok vFkok (Or)  

     vkse fu;e ds dFku esa rki D;ksa vpj jgrk gS\ 

Why does the temperature remain constant in the statement of the Ohm’s law ? 

2 

Á’uÁ’uÁ’uÁ’u    22220000----     fojatd pw.kZ ds nks egÙoiw.kZ mi;ksx fyf[k,A 

Write two important uses of bleaching powder. 

2 

     vFkok vFkok vFkok vFkok (Or)  

     fuEufyf[kr vEy ds ÁkÑfrd lzksr fyf[k, % 

(a) esFksukWbd vEy   (b) VkVZfjd vEy 

Write the natural sources of the following acid : 

(a) Methanoic acid   (b) Tartaric acid 

1+1=2 

Á’u Á’u Á’u Á’u 22221111----     15cm Qksdl nwjh ds ,d vory niZ.k dk mi;ksx djds ge fdlh oLrq dk lh/kk 

ÁfrfcEc cukuk pkgrs gSaA fcEc dk niZ.k ls nwjh dk ifjlj D;k gksuk pkfg,\ ÁfrfcEc 

dh ÁÑfr dSlh gS\ bl fLFkfr esa ÁfrfcEc cuus dk ,d fdj.k vkjs[k cukb,A 

We wish to obtain an erect image of an object using a concave mirror of focal 

length 15cm. What should be the range of distance of the object from the mirror? 

What is the nature of the image? Draw a ray diagram to show the image 

formation in this case. 

1+1+2=4 

     vFkok vFkok vFkok vFkok (Or)  

     5cm yEckbZ dk dksbZ fcEc 30cm oØrk f=T;k ds fdlh mÙky niZ.k ds lkeus 20cm dh 

nwjh ij j[kk x;k gSA ÁfrfcEc dh fLFkfr] ÁÑfr rFkk lkbt Kkr dhft,A 

An object 5cm in length is placed at distance of 20cm in front of a convex mirror 

of radius of curvature 30cm. Find the position of image, its nature and size. 

2+1+1=4 



Á’uÁ’uÁ’uÁ’u    22222222----     fuEufyf[kr jklk;fud lehdj.kksa dks larqfyr dhft, %  

(a)  2 2H Cl HCl+ →       (b) 2 2Na H O NaOH H+ → +     

(c)  4 2 2 2CH O CO H O+ → +    (d)  2 2Na O Na O+ →  

1 4 4× =  

     Balance the following chemical equations : 

(a)  2 2H Cl HCl+ →       (b) 2 2Na H O NaOH H+ → +     

(c)  4 2 2 2CH O CO H O+ → +    (d)  2 2Na O Na O+ →  

 

     vFkok vFkok vFkok vFkok (Or)  

     dkWij ds yky Hkwjs&pw.kZ dks fp=kuqlkj xeZ fd;k 

x;kA 

(a) ¼1½ ,oa ¼2½ dk uke fyf[k,A 

(b) buesa gksus okyh vfHkfØ;k dk uke fyf[k,A 

(c) vfHkfØ;k ds fy, larqfyr lehdj.k fyf[k,A 

(d) mRikn dh H2 xSl ls vfHkfØ;k dk lehdj.k fyf[k,A 

Red powder of copper is heated according of the 

figure given : 

(a) Write the name of (1) and (2). 

(b) Write the name of reaction taking place. 

(c) Write the balanced equation for reaction taken 

place. 

(d) Write the equation for the reaction of product with H2 gas. 

 

Á’uÁ’uÁ’uÁ’u    22223333----     n`f”Vnks”k fdls dgrs gSa\ rhu Ádkj ds n`f”Vnks”kksa dk uke fyf[k,A bls nwj djus ds fy, 

fdl Ádkj ds ysal dk mi;ksx fd;k tkrk gS \ 

What is defects of vision? Write three different types of defects of vision. Which 

type of lens is used to correct it?  

1 11 11 11 11+1 +1 = 41+1 +1 = 41+1 +1 = 41+1 +1 = 42 22 22 22 2  



Á’u Á’u Á’u Á’u 22224444----     dkcZu ds vR;kf/kd ;kSfxdksa ds fuekZ.k dk pkj dkj.k nhft,A 

Give four reasons for the formation of large number of carbon compounds.  

1 4 4× =  

     vFkok vFkok vFkok vFkok (Or)  

     ,sYdkbu D;k gS\ bldk lkekU; lw= fyf[k,A lcls ljy ,sYdkbu dk uke rFkk lajpuk 

lw= fyf[k,A 

What are alkyens? Write their general formula. Write the name and structural 

formula of the simplest alkyne. 

1+1+2=4 

Á’u Á’u Á’u Á’u 22225555----     xksyh; niZ.k ds /kzqo] Á/kku v{k] oØrk dsUnz] Qksdl ,oa Qksdl nwjh dh ifjHkk”kk 

fyf[k,A 

Define pole, principal axis, centre of curvature, focus and focal length of 

spherical mirror. 

1 5 5× =  

     vFkok vFkok vFkok vFkok (Or)  

     Áfrjks/k fdls dgrs gSa\ pkyd dk Áfrjks/k fdu&fdu dkjdksa ij fuHkZj gksrk gS\ 

What is resistance? On what factors does the resistance of conductor depend? 

1+4=5 

Á’u Á’u Á’u Á’u 22226666----     fn, x, fp= esa yo.k ds foy;u dh pkydrk dk Á;ksx fn[kk;k x;k gSA  

[1], [2], [3], [4] ,oa [5] dk ukekadu dhft,A 

In the given figure of purification of copper in electric decomposition is shown. 

Label against [1], [2], [3], [4] and [5] 

 

 

 

 

 

 

1 5 5× =  

     vFkok vFkok vFkok vFkok (Or)  

     lar`Ir ,oa vlar`Ir gkMªkstu ds chp ik¡p vUrj fyf[k,A 

Write five differences between a saturated and unsaturated hydrocarbon. 

 

     xzqi& xzqi& xzqi& xzqi& B ¼tho foKku½¼tho foKku½¼tho foKku½¼tho foKku½    
Group- B (Biology) 

 

Á’u Á’u Á’u Á’u 22227777----     lgh fodYi dk p;u dhft, %lgh fodYi dk p;u dhft, %lgh fodYi dk p;u dhft, %lgh fodYi dk p;u dhft, %    
Select the correct option : 

 

     eNyh ds ân; esa dks”Bksa dh la[;k gS & 

¼A½ 2  ¼B½ 3  ¼C½ 4  ¼D½ dsoy ,d 

1 



The number of chambers in the heart of a fish is – 

(A) 2  (B) 3  (C) 4  (D) Only one 

Á’u 28Á’u 28Á’u 28Á’u 28----     dkSu lk eknk tuu rU= dk Hkkx ugha gS & 

¼A½ vaMk’k; ¼B½ xHkkZ’k; ¼C½ ‘kqØk’k; ¼D½ fMEcokfguh 

Which one is not a part of female reproductive system – 

(A) Ovary (B) Uterus (C) Testes (D) Fallopian Tube 

1 

Á’u 29Á’u 29Á’u 29Á’u 29----     esaMy us vius Á;ksxksa ds fy, fdl ikS/ks dk p;u fd;k Fkk \ 

¼A½ vaxqj ¼B½ eVj ¼C½ VekVj ¼D½ ljlksa 

Which plant was selected by Mendel for his experiments – 

(A) Grape (B) Pea (C) Tomato (D) Mustard 

1 

Á’u 30Á’u 30Á’u 30Á’u 30----     i`Foh ij ÅtkZ dk Áeq[k lzksr gS & 

¼A½ dks;yk ¼B½ ydM+h ¼C½ lw;Z  ¼D½ fo|qr 

Main source of energy on the earth is – 

(A) Coal (B) Wood (C) Sun (D) Electricity 

1 

Á’u 31Á’u 31Á’u 31Á’u 31----     oSf’od Å”.krk ds fy, mÙkjnk;h gS & 

¼A½ O2  ¼B½ CO2 ¼C½ NH3 ¼D½ N2 

Responsible for the Global warming is – 

(A) O2  (B) CO2 (C) NH3 (D) N2 

1 

Á’uÁ’uÁ’uÁ’u    32323232----     fjä LFkku dh iwfrZ dhft, &fjä LFkku dh iwfrZ dhft, &fjä LFkku dh iwfrZ dhft, &fjä LFkku dh iwfrZ dhft, &    
Fill in the blank space - 

 

     ------------------------------------------------------------------------------------------------------------------------] ] ] ] ty vkSj dkcZu MkbZvkWDlkbM Ádk’k la’ys”k.k ds fy, vko’;d gSA 

……………….., water and carbon dioxide are essential for photo synthesis. 

1 

Á’uÁ’uÁ’uÁ’u    33333333----     tuu D;k gS \ 

What is reproduction? 

2 

Á’uÁ’uÁ’uÁ’u    34343434----     ijkx.k D;k gS\ 

What is pollination? 

2 

Á’uÁ’uÁ’uÁ’u    35353535----     vkn'kZ bZa/ku dh nks fo’ks”krk,¡ fyf[k,A 

Write two characteristics of an ideal fuel. 

2 

     vFkok vFkok vFkok vFkok (Or)  

     ck;ksxSl ls nks ykHk fyf[k,A 

Write two benefits from the biogas. 

 



Á’uÁ’uÁ’uÁ’u    36363636----     gekjh xfrfof/k;k¡ i;kZoj.k dks fdl Ádkj ÁHkkfor djrh gSa\ 

How do our activities affect the environment? 

2 

     vFkok vFkok vFkok vFkok (Or)  

     tSo&Hkw&jlk;u pØ D;k gS\ 

What is Bio-Geo-Chemical cycle? 

 

Á’uÁ’uÁ’uÁ’u    37373737----     ekuo ikpu rU= dk ukekafdr fp= cukb,A 

Draw a labeled diagram of Human Digestive System. 

4 

     vFkok vFkok vFkok vFkok (Or)  

     euq"; ds mRltZu rU= dk ukekafdr fp= cukb,A 

Draw a labeled diagram of Human Excretory System. 

 

Á’uÁ’uÁ’uÁ’u    38383838----     vek'k; esa Hkkstu ds ikpu dk o.kZu dhft,A 

Describe the digestion of food in stomach. 

5 

     vFkok vFkok vFkok vFkok (Or)  

     ikpu rU= esa ÁksVhu ds ikpu dk o.kZu dhft,A 

Describe the digestion of Protein in Digestive  System. 

 

Á’uÁ’uÁ’uÁ’u    39393939----     vkuqokaf'kdrk esa esaMy dk D;k ;ksxnku gS\ 

What is the contribution of Mendel in Heredity? 

5 

     vFkok vFkok vFkok vFkok (Or)  

     nksgjk fu”kspu fdls dgrs gSa\ o.kZu dhft,A 

Describe Double Fertilization.  

 

 

 

-----------------*------------------ 


